A 32 +5x =a(x-1)2+b(x+1) +c7}F x| TR FS40] HEF
Sh= &4 a, b, col St a + b - ¢ 9 F& Fohofeh

S ER
=



/\xoﬂ tfote] x2—3x+2 = a+bx+cex(x—1)+dx(x—1)(x—2)

A W, a+b+c+do G F5HH? (Ha, b, ¢, dE



2x2 —6x-2=a(x+1)(x-2) +bx(x-2) + cx(x+ 1) 7} x 9

sh?

:ll

O
=

® 0

1

@D 2



x 9] grell dAIGlo]l 54 x% + 13x — 18 = a(x + 2)(x — 3) + bx(x +
2) +ex(x=3) ol A AHL W, A a.b,c Jda+b+c =

7

D1 @ 3 3 6 @ 9 ® 12






6. T x4+ x1 +22x+ 112 x+ 12 Ls YHR| =2

@D -33 Q -22 3 -11 @ 11 B 33



7. HFAH -2 +5x - 65 DA 1 - 28 Y o] UAE?

D o ® 1 B 2 @ 3 B 4



=5 233 + X2+ x+ 15 2x - 1 2 Ue 5 YRS SAHRE
o} 2

O 9
/\T_._

e, OSL
b

@ x24+x+1,1 @ 2+x+1,2
@ 2x2+2x+2, 1 @ 2x2+2x+2, 2

® 4x2 +4x+4, 4



X 4+x2-8x-12E ¢l

oratr o X109
=2 A1+ 1.

D (x+2)2
@ (x-3)?



10. & WAL oL8eiol diad 0 -2 4 5iosR o 12
£ 7% Zoleh. 23t ez} 27

@

@ F&:ix-1,4HA 4

® & x2-x—4, 1A 1
@ F:xt-x+4, 4R
3

T2 x4 UHA x-1



11.

a=1+ip=1

@ i

-o]lIH

+ 2 o) gre?



12.

x=1-+v3i g4, x2-2x+1 9 gte?

@D -3 ® -2 3 0



HBhgz=x+yi7tz=4
z o AelEAaspoltt)



14, x=1+ V2iy=1- V2 4o, x? +)* o] gh-& F3}He?

D -1 ® 1 B -2 @ 2 B -3



15. x=-2-i ¥4, x> +4x+ 10 9] S F5HA L.

>R
c






17. (x-2y-32)2& A7Asto] 2ol digt A0 2 Falsha?

D x? + 4y? + 9z% — 4xy + 12yz — 62x
@ x% —4xy+4y? — 9722 + 12y7 — 6zx
® x% - (4y + 62)x + 4y? + 12yz + 972
@ 4y* +12yz+ 922 + (—4y - 67)x + x2

® 922 + 4y? + x?



18. The & tharAlo] Az ato] AR E 2.9

® (4x-2)+(7-2x)=2x-5

@ (" +2%) - 20" - 32%) = 7x°

® (x+y)? =x3+3x%y+ 3% +°

@ (x+y+2)? =2 +y" +2° + 2xy + 2yz + 22x

® P+ +(x+1)=x2-x+1



@
x2
y2

@
x4
X2 y2
+
y4






21. f(x) :x61+x47+1°]ﬂ'3’—§=_lnﬂ,f<
(& i=+V-1)

@D -2 ® -1 3 0

1-i
1+

)i




3 0

D -9



23. f(x) = lj—i’ g(x) = 1_101 F(x), g(x) ol thated (£(1 - i))100 +

(g1 + )10 9] Zhe Fohl?

D1 ) ®

JUI V)
®
©
SIS

DO | —



24. i-22 4383 -4i*+5°-65+---—100i'° =g+ bi L L W, a+b
o] k22

@D =100 @ =50 3 0 @ 25 3 50






26.

L+i+®+8 4. 42005

D 1-i @ 1+i B —i

4

ol

FA?

@ i



27.

EEEEE
Akt BT

noll tiste] 8 4 #rtl o] Yepd 4 9l A& ohE
N A7F? (Hi= V-1)

m’
™
=~

lz mo

@D 470 ® 670 ® 87 @ 970 ® 1074



28. a+b=4,a>+b*> =109 W, a® + b° 2] g F3tofat,

SEE
c



@ 2

® 101



30. x+y=2 2" +)% = 14w, & 4" o] gk Fobw?

@D 12 ® 32 ® 52 @ 82 3 102



31. = @~
a(a—!—l)—l?z] Uﬂ,ﬁﬂ %}\-_‘ojr)

D1 @ ®

N =
Wl =

=

ot =



32.



33. FASFxyl ot 2 +y2 =7, x+y=34 ), L+’ AU
T-shodzt.

B
=¥



34.

.x+y:2, _)(/'S'f'y'?’:]_4:(?“—_J IIH’ E}%%‘%;q

B 227
® xy=-1

@ XQ+y2:6
@ x>4+y° =86

@ xf+yt=34
@ x6_|_y6:198



